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m

c1,z = 
E0

H⋅ 1−2⋅μ2

= ES ⋅
1−𝜇−2⋅𝜇²

1−𝜇

c2,v = E0 ⋅ 
H

6⋅ 1+μ

c1,z = 
E0

H⋅ 1−μ2

c2,v = E0 ⋅ 
H

20⋅ 1−μ²
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▪



s =
s0

4 bis 5

c2,v = c1,z ⋅ s2

0.1 ⋅ c1,z < c2,v < 1.0 ⋅ 𝑐1,𝑧

c2,v

c2,v

c2,v = 0.5 ⋅ 𝑐1,𝑧

c2 = c2,x = c2,y



k = c1,z ⋅ c2,v

K =
c2,v
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m c1,z = 
E0

H⋅ 1−μ2

c2,v = E0 ⋅ 
H

20⋅ 1−μ²

c1,z = 2083.33 kN/m³

c2,v = 2604.17 kN/m



c1,z = 2083.33 kN/m³

c2,v = 0.5 ⋅ 𝑐1,𝑧

c2,v = 1041.67 kN/m

k = c1,z ⋅ c2,v

K =
c2,v

2

k = 2083.33 ⋅ 1041.67

k = 1473.14 kN/m²

K =
1041.67 kN/m

2

K = 520.84 kN/m












